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Cuadro 10 (continuación 6)/Table 10 (continued 6)
El Salvador: tablas abreviadas de mortalidada

 El Salvador: abridged life tables a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.021 0.021  100 000  2 064  98 383 0.979 b 6 715 509 67.2
1 4 0.001 0.003  97 936   305  390 996 0.997 c 6 617 126 67.6
5 5 0.000 0.002  97 631   189  487 681 0.997 6 226 130 63.8

10 5 0.001 0.004  97 442   392  486 230 0.992 5 738 448 58.9
15 5 0.003 0.013  97 050  1 230  482 176 0.982 5 252 218 54.1
20 5 0.005 0.023  95 820  2 188  473 631 0.974 4 770 042 49.8
25 5 0.006 0.030  93 632  2 765  461 247 0.970 4 296 411 45.9
30 5 0.006 0.031  90 867  2 807  447 316 0.969 3 835 164 42.2
35 5 0.006 0.031  88 060  2 719  433 501 0.967 3 387 848 38.5
40 5 0.007 0.035  85 341  2 955  419 317 0.962 2 954 347 34.6
45 5 0.009 0.042  82 386  3 468  403 259 0.953 2 535 030 30.8
50 5 0.011 0.053  78 918  4 176  384 149 0.941 2 131 771 27.0
55 5 0.014 0.066  74 742  4 952  361 329 0.925 1 747 622 23.4
60 5 0.018 0.085  69 790  5 941  334 094 0.901 1 386 293 19.9
65 5 0.024 0.115  63 848  7 313  300 957 0.865 1 052 199 16.5
70 5 0.034 0.158  56 535  8 930  260 347 0.808  751 242 13.3
75 5 0.052 0.232  47 604  11 068  210 352 0.711  490 894 10.3
80 5 0.088 0.362  36 537  13 216  149 643 0.572  280 542 7.7
85 5 0.148 0.533  23 321  12 429  85 531 0.411  130 899 5.6
90 5 0.235 0.708  10 892  7 713  35 178 0.261  45 368 4.2
95 5 0.349 0.845  3 179  2 687  9 178 0.099 d  10 190 3.2

100 ω 0.486 1.000   492   492  1 012  1 012 2.1
Mujeres/Females

0 1 0.017 0.017  100 000  1 698  98 517 0.982 b 7 636 752 76.4
1 4 0.001 0.003  98 302   290  392 469 0.997 c 7 538 234 76.7
5 5 0.000 0.001  98 012   144  489 702 0.998 7 145 765 72.9

10 5 0.000 0.002  97 869   201  488 839 0.997 6 656 063 68.0
15 5 0.001 0.004  97 667   344  487 475 0.996 6 167 224 63.1
20 5 0.001 0.004  97 323   433  485 533 0.995 5 679 748 58.4
25 5 0.001 0.005  96 890   518  483 157 0.994 5 194 215 53.6
30 5 0.001 0.007  96 372   637  480 269 0.992 4 711 059 48.9
35 5 0.002 0.009  95 735   829  476 604 0.990 4 230 789 44.2
40 5 0.002 0.012  94 906  1 163  471 622 0.985 3 754 185 39.6
45 5 0.004 0.017  93 743  1 633  464 632 0.979 3 282 563 35.0
50 5 0.005 0.025  92 110  2 292  454 819 0.970 2 817 932 30.6
55 5 0.007 0.036  89 818  3 204  441 078 0.956 2 363 113 26.3
60 5 0.011 0.053  86 613  4 585  421 605 0.934 1 922 035 22.2
65 5 0.017 0.080  82 028  6 571  393 716 0.900 1 500 430 18.3
70 5 0.026 0.121  75 458  9 131  354 461 0.846 1 106 715 14.7
75 5 0.042 0.192  66 327  12 761  299 731 0.752  752 253 11.3
80 5 0.075 0.317  53 566  17 000  225 329 0.618  452 523 8.4
85 5 0.127 0.478  36 566  17 465  139 168 0.464  227 194 6.2
90 5 0.201 0.648  19 101  12 380  64 557 0.314  88 026 4.6
95 5 0.299 0.795  6 722  5 345  20 244 0.137 d  23 469 3.5

100 ω 0.427 1.000  1 376  1 376  3 225  3 225 2.3

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


